AR TR / 3aiker fasmer
GOVERNMENT OF INDIA / DEPARTMENT OF SPACE

FafeT STANT e (TEE)/FE %W’f IS0
SPACE APPLICATIONS CENTRE (SAC)/ISRO

3gHGIEIG / AHMEDABAD

ADVT. No. : SAC:01:2018, dtd. 10/03/2018-PART-III (Post Code : 03)
dRAREA- A (fFe0) 9 & 994 & v faf@a adan
Written Test for selection to the Post of Technician-‘B’ (Fitter)

EEIED 21/10/2018 W gfeaent @RS
Date (Ff@@ar / Sunday) Question Booklet Series
i 09:00 — 10:30 hrs.
Test Timings
i & gEdn 90
No. of Questions
HE<H 3h
90

Maximum Marks

sFlea & faw @der / Instructions to the candidate
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Candidate should read carefully the instructions in the Question Booklet and OMR
Answer Sheet before start answering.
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Immediately after the commencement of the examination, candidate should check that

this Question Booklet does not have any unprinted or torn or missing pages or
questions, etc. If so, get it replaced by a proper Question Booklet.
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The question paper is in the form of a Question Booklet with 90 questions. Questions
are of objective type with four answers indicated, of which only one is unambiguously
correct.
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o |isTa AR @ (RheR) A
TECHNICIAN “B” (FITTER)

102 mm = B

107 mm = micron.

(@  0.01 (b) 0.1

(©) 10 (d) 100

72 Weh B o1 SRR 10070 7, at wfeqar @ :

If the size of hole is 100**!, then the tolerance is :

(a) 0.15
(b) 0.30
(¢) 0.10

(d) 39k § | =I5 721 / None of the above

et fety w1 ¥ A9 F e w6 1R 3R Fed A suwwn, @ dfin (o) & wed hofd
2

Cutting speed for reaming cutting speed for drilling for a particular work piece and

cutting tool combination.

(a) ¥ A% / is more than
(b) @A/ is less than
() s/ is equal to

(d) =W a1 e € Weha1 & / can be more or less than

Teh AR W 921 % @ 1, AR g 16 mm 2, @ I8 A 2 :

In four start thread screw, if lead is 16 mm, then pitch is

(a) 2mm (b) 3mm
(c) 4mm (d 16mm

3 , PC-03/2018
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s |isr e () A
TECHNICIAN “B” (FITTER)
TSI W9 (US) ST ST, YA (HshH0T) |, B¢ o THH & 2
In transition fit size of shaft hole size.
(a) 2% / is more than
(b) " /is less than
(c) s/ is equal to
(d) | a1 3 / can be more or less than
sin 45° =
(@) 1/42 b) 12
() 3/42 @ 1
o Vi |, g fugr aea @
Main alloying element in stainless steel is
(a) e / Nickel (b) IfEW / Chromium
(¢c)  afeFm/ Vanadium (d) @/ Carbon
dten 3R fieh 1 firsreng 2:
The alloy of copper and zinc is
(a)  didet/ Brass
(b)  =i=/ Bronze
(¢) THUA/ Gun metal
(d) 39U 4 & =13 4 / None of the above
4 A i, PC-03/2018
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S | 155 AR a1 (TheR) A
TECHNICIAN “B” (FITTER)
9. IO J&90T i Fiod H 2
@g indicates angle projection.
(a) =¥/ Fourth (b) f&dfi=/ Second
(c)  qdi/ Third (d) wum/ First
10. U gay % Ui S vl 1 Fo & -
Sum of five internal angles of pentagon is
@  180° (b) 360°
©)  540° d) 720°
. 7 =1 fug 2l
/7 issymbol of
(a)  =9eT/ Flatness (b) EHFTAT / Parallelism
(c) &/ Perpendicularity (d) ©iuTgE / Straightness
12. TSR BSWH i su g

What is the full form for a thread type BSW?

(a)
(b)
(©)
(d)

Bharat Standard Whitworth
Bharat Standard worm
British Standard Whitworth

British Standard worm

5 . — PC-03/2018
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13,

14.

15.

16.

17

- SPACE APPLICATIONS CENTRE (SAC)/ISRO SET
o FAREA- o (fheX) A
TECHNICIAN “B” (FITTER)
e AL T I 2
Angle of centre punch is
(a) 180°-150° (b) 90°-120°
(c) 30°-60° (d 60°-90°
afe sfaer diedet st =gan fimdt 2
Least count of Vernier bevel protector is :
(a) 5T / minutes (b) 5 H*UE /seconds
(¢) 10 e / minutes (d) 10 ¥*vE /seconds
o F e +0.15 mm 2 3R Freret fmed —0.05 mm 2, @ uré w afEwyar mm 2|
When upper deviation is +0.15 mm and lower deviation is —~0.05 mm, then the tolerance for the
part is : mm.
(a 0.1 (b) 0.15
(0 02 (d) 025
u o, o ue 3, 4 315 om @, d 3HH SAwd cm’ 2|
Area of a triangle whose sides are 3, 4 and 5 cm is cm?.
(a 10 (b) 7.5
(c) 15 (d 6
acme Tt &1 HIVT 2
Angle of acme thread is )
w 55 (b) 60°
(© 30° d) 29°
6 —  PC-03/2018
APIO / Sr. AO
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s e aeAREE- ot () A
TECHNICIAN “B” (FITTER)
18. 2 mm =M % B¢ &l 7o % foru, Freferfaa # & form sushor =1 3uzi feran sman 27
To measure a hole of diameter 2 mm, which of the following instrument is used?
(a) =7/ Pin gauge
(b) 3Gt AswHI / Internal micrometer
(c) SR/ Bore gauge
(d) TS/ Slip gauge
19.  f= @ = a g amatar s gfud s e?
Which symbol represents parallelism?
@ [T ® 2\
© @ O
20. o= feEr T, @ % YR s veen
Identify the type of screw shown in figure
(a) M ¥TFT T / Cheese Head Cap Screw
(b)  dihe g8 HU & / Socket Head Cap Screw
(c) TR ESHU T/ Square Head Cap Screw
(d) FRERTFHTE & / Counter sunk Head Screw
7 PC-03/2018
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21,

22.

&3,

24.

1 <t R

1 Thou = inch.

(@ 1/10 (b) 1/100
(c) 1/1000 (d) 1/10000
TS HEAT % s T, e A 2l

Thickness of sheet with increase of gauge number.

(a)  ®@dr/increases

(b)  =edr/ decreases

(c)  UH S &1/ remains constant

(d)  39F H A IS 7L / none of the above

s foreiy g fea & forg, afe wefi= o deheft it il o sgrn ST 8, A ey il

For a particular dia drill if spindle speed of machine is increased, the cutting speed
(a) =R/ decreases

(b) @i 2/ increases

(c) |HM & ? / remains constant

(d)  3%H ¥ A *IE 78T / none of the above

afe G et fore it e <t i 19.8 m it e 2, s af feet =1 =m 10,5 mm # (= 22/7) T dehett
bl rpm 9dT =77 3¢

If cutting speed of a drill bit is 19.8 m/min, find the rpm of spindle if diameter of drill is 10.5 mm.
(n=22/7)

(@ 60 (b) 600

() 6000 (d) 60000

8 ' ' PC-03/2018
APIO / Sr. AO
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i5Fo qRAREa- ot (fhe) A
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25.

26.

27.

o 1 few@m 3@ Wi p= 10 gm/em® (rt = 22/7) % TRt 9T T gaT @IS
e : gt A mm 1§ @

Find nearest approximate weight of the part shown in figure. p= 10 gm/cm’ (1 = 22/7)

Note: All dimensions are in mm

_}_ 100 _Jl 30
Dia. 28 W
(a) 1500 gm (b) 1560 gm
(c) 1250 gm (d) 1435gm

uh Aeht T e g #, 24 dg & grgat i Y 7fa 800 rpm R1 60 i & fga firw i wifa &1 war
ISHIEY

In a simple spur gear drive, the speed of driver gear having 24 teeth is 800 rpm. Find the speed of

driven gear having 60 teeth.
(a) 320 rpm (b) 12000 rpm
(c) 600 rpm (d) 20rpm

I mx 1 m3fedd 20 mm x 20 mm & f3aa a7 1 o1 Tk 87

How many squares of 20 mm x 20 mm can be cut from 1 m x 1 m sheet?
(a) 4000 (b) 400
(c) 2500 d 4

9 _ PC-03/2018
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o asRrE- ot (fFex) A
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28.

29,

30.

A forame o fm & R SR 1 e gaT @ e g 7™ mm? 3 2|

Find the area of the shape shown in figure, all dimensions are in mm?

2 b
R 1
Dia 70
(@ 4550 mm’ (b) 6475 mm®
() 2625 mm? (d) 1925 mm®

g oee gred #, 100 mm & grEar o, 1400 rpm & g9 & 21 3500 rpm & fgaq f*orefi 1 s wan
[SRIERN

In open belt drive, the driver pulley of 100 mm is rotating with 1400 rpm. Find the diameter of
driven pulley rotating with 3500 rpm.

(@) 250 mm (b) 100 mm

(c) 40 mm (d) 140 mm

gfe fereft o & T I Rs. 50 ¥ gt Rs. 110 51 faan sime, @t srga o wfrera &= a?

If the prize of an item is increased to Rs. 110 from Rs. 50, the percentage increase is

(@ 120% (b) 100%
)  220% () 45.45%

10 ' T PC-03/2018
' APIO / Sr. AO
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31. 7% % T 3 91 & fo1g, Rs. 1,000 ) @9 & e avet same = 27

32.

43,

Simple interest for an amount of Rs.1,000 at a rate of 7% and for a period of 3 years is

(a)
(c)

Rs. 70 (b) Rs. 140
Rs. 210 (d) Rs.280

e T fert % e <t vt st war @S Et SR mm (n = 22/7)

Find the length of the shape shown in figure. Take (n = 22/7), all dimensions are in mm

(a)
(©)

%
|-‘7 50 *{ 20
90 mm (b) 98 mm
84 mm (d 134 mm

0 © -1 i fhe

Which of the following is an interference fit?

(a)
(b)
(©)
(d)

w4 f%e / Force fit
1 fthe / Running fit
wifen fe / Sliding fit
uy] fe / Push fit

11

2

PC—-0372018

APIO / Sr. AO
RTI, SAC, Ahmedabad




srafe Iw e (vaedt) /el
b SPACE APPLICATIONS CENTRE (SAC)/ISRO SET
I57a TR & (RheX) A

TECHNICIAN “B” (FITTER)

34.

33,

36.

ST S fagerd +0.08 mm & 3R feren fmem +0.03 2, ot uré 1 afgsar 2

When upper deviation is +0.08 mm and lower deviation is +0.03 mm, then the tolerance for the

part is
(a) 0.5 mm (b) 0.005 mm
(¢) 0.05mm (d 0.11 mm

Frafefaa vz yerl 0 9, forad adifae e ot a1fdes 27
Which of the following file types has relatively more material removal rate among them?

(a) STHAEEA/ Dead smooth file
(b) &g *e HIgA / Second cut file
(¢) I ®EA/ Smooth file

(d) «m=E wigd / Bastard file

g Afcem o TN, AEl =1 | F= o fore g 1 A hifsr |

To prevent the eyes from injury during arc welding, always use

(a) YA S[d / Safety shoes
(b)  Muafegn iTed / Gas welding goggles
(c) fafwdmined / Chipping goggles

(d)  BvE a1 eeHe BhA / Hand or Helmet screen

12 . . PC-03/2018
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FH|i5Fa aRREE- ot (fheR) A
TECHNICIAN “B” (FITTER)

37. g Wi i wadar @

Density of mild steel is

(@ 7.8 gm/em’ (b) 2.7 gm/em’

()  19.3 gm/cm’ (d) 1.4 gm/cm®
38.  fumd femm o gele Y wgwifig

Identify the hammer shown in the following figure :

(a) @ geer / Claw hammer

(b) @ U gEl / Cross pen hammer

(c)  oid 94 gter / Ball pen hammer

(d) wessdEr/ Sledge hammer
39. 25 TPIrer-3Tt scig H & Awidieht Ay F s fr g 2

In 25 TPI hacksaw blade, distance between two adjacent teeth is

(a) 1 mm (b) 25 mm

(c) 1/25 mm (d 025mm
40. 3IRsina=3/5%, dtana="2?

If sinoe=3/5,thentan o = ?

(a) 3/4 (b) 4/5

(c) 473 @ 1

13
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41.  9ERH I9A
Washer is used to
(a)  Sife o fdx faemat=a &l gaAT / cover the hole clearance of the job
(b)  3UHUT &HdT T GUW / improve tool capacity
(c) =@ I firehst % Wi & Fif&ra wa1 / protect the bolt against clamping force
(d) &< &% e i dieq1/ distribute force over a large area
42, < fergge wrw A @1t 3w fopan < aren fgfgn wefa R
The drilling machine used when no electricity available is
(a) Y9e fgfgmuefia / ratchet drilling machine
(b)  afEdia fgfgm e / sensitive drilling machine
(c) fugr fefgmusfia/ pillar drilling machine
(d) fez= fgfgm mefi / radial drilling machine
43.  HSS 39 HfEe § T i i #n e’
Typical percentage (%) of Tungsten in HSS Tool material is
@ 04
®) 28
(c) 18
(d 11
14 _ PC-03/2018
APIO / ST. Aodabad
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44,

45.

46.

47.

Trefafaa 3 & si-a1, weitfin § go= wiiaees @ it s 27

Which among the following is the basic function of coolant in machining?

(a)
(b)
(c)
(d)

Sifsl Siedl 1 / Job will be machined fast
1 W (Sifer) 3 3w Y 381 F R1T/ To cool the work material (job) and tool
Sifel @ ST 9 & / Job should not get rust

el W Srwed! Hefet THT % o7t / To get good surface finish on job

(4x8)+(5-4)+(9-8)—(15/3)=

(@ 129/4 (b) 32
) 27 (d) 28
(1/5) + (2/10) + (3/15) =

(@ 355 (b) 6/25
()  6/750 (d) 1/15

T 51g3 foret weht ol fefesm wefl ohr Sueihr spar 27

Which type of drilling machine does a carpenter use?

(a)
(b)
(c)
(d)

af=afea fefgm wef / Sensitive drilling machine
s fgfgm #efi= / Breast drilling machine

feaet ffgm wefiv / Radial drilling machine

Tt ffgm wef / Gang drilling machine

15 — PC-03/2018
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48. T S &1 IWM = I F o fore Ear 87
Radius gauges are used to check
(a) <& 3 aredi €l / Inner and outer radii
(b)  Fact sreE1 = / Only Inner radius
(c)  act smedt Brsar / Only outer radius
(d)  wfafi@ Are / Iregular curves
49. Q% fve # w@ie U ®
Grooves are given in the body of the reamer
(a) O wefe 8 S T % fe7t / to hold the reamer in machine
(b)  TCaR T # 9 T o 7T/ to hold the reamer in a wrench
(c)  amam fa fshref wam % % 7T / to provide easy chip removal
(d) R diek ey T & T / to keep the reamer aligned
50. e e wehta # suEnf i % wem g
Types of gears used in hand drill machine are
(a) am i/ Worm gears
(b) eforera firr / Helical gears
(¢c) TR/ Spur gears
(d) +fiae fat / Bevel gears
16 ‘HPC—03/2018
29 | APIO / Sr. AO 1
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51.

52.

53,

54.

ﬁsﬁmm,wmmhuﬁﬁwaﬁm%mmﬁwﬁam%

This type of tap displaces the material instead of cutting while threading

(a) 7229/ Nut tap (b)  Torefi 29/ Pulley tap
(c) #fTwe w2 39/ Helical fluted tap (d) =<t i 29 / Thread forming tap

SS 304 % grar

SS 304 contains

(@ 8%Cr, 18% Ni (b) 18% Cr, 8% Fe
(c)  18%Ni, 8% Fe (d) 18% Cr, 8% Ni

mm%w,mﬁﬁmﬁmwmmél

Cast iron is used for machine body due to its follwing property :

@@ = e i fig / low melting point
(b)  erams & foeg whadie / resistance to wear
(c) 3= Toelt wifeh oflt wifer (wram) & i wfedrer /

high compressive strength and resistance to shock

(d) = em 9difEe / low cost material

Fefafea # & 71 g firs urg 27
Which is an alloy from the following?

(a)  dia1/ Copper (b) E/Lead
()  FgfmtEm / Aluminium (d) ®7e e / Stainless Steel

17 - PC-03/2018
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55.  HSS # g fasofi e @
Main alloying element in HSS i1s
(a)  meT/ Tungsten (b) IfEEw / Chromium
(c) Tiher / Nickel (d) #s / Manganese
56.  Tamforfiga o @, forg arg o1 Sway smETdEs 27
Which metal has highest malleability from the following?
(a)  dfa1/ Copper (b) wifeam / Platinum
(c) TgfufEm / Aluminium (d) @i/ Gold
57. wgaR @R i ¥ 3afd #d B
Galvanized iron is coated with
(a) =@/ Gold (b) fS=6/Zinc
(c) @&/ Iron (d) dfs1/ Copper
58. (60 — 40 Hi=g) F g ed 2l
(60 — 40 Brass) is known as metal.
(a) Y=/ Muntz (b) T UTA / Gun metal
(c) 3=/ Cold (d) reret/ Noble
18 PC-03/2018
APIO / Sr. AO 1
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59.

60.

61.

62.

63.

59ﬁ63ﬁ%wﬁw,ﬁalqz%mﬁ#mﬁm-

From Question 59 to 63, match the parts from the Fig. 1 of types of nut.

D

Fig.1-Type of Nuts

P~ aurtcneh an1fe, - sifsiem 72 %1 2 27 (fo=r 1 3fw)
Which given alphabet represents self-locking nut? (Refer Fig-1)
(a A (b) B () C

-t quilerh 32, STishr 92 %1 e 27 (fe=r 1 2fw)

Which given alphabet represents square nut? (Refer Fig-1)
(@ B (®) D (c) C

aﬂq—maﬂrmwﬁ:,wuzaﬁvﬁqﬁmﬂasﬁ%? (fer 1 3ftam)

(d D

d A

Which given alphabet represents simple hexagonal nut? (Refer Fig-1)

(@ D (b) B ¢ C

HI-E Furieneh 3112, Fraei-2 &1 2qs 27 (fe= 1 3fEm)

Which given alphabet represents castle nut? (Refer Fig-1)
(@ C (b) B (c) E

I -¥ auitenss a1, 5 72 %1 2 27 (o= 1 3few)
Which given alphabet represents wing nut? (Refer Fig-1)

@ G (b) B () F
19

g

d E

(d F

d cC
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64.

65.

66.

67.

68.

¥ 64 @ 68 9, a7 2 & wiferd] & v @ Tt = 9 iR
From Question 64 to 68 match the parts from the Fig. 2 of Types of keys

)
NENY

Fig.2 of Type of Keys

FH-H) Furicen IR, o~ =1 1 itk 27 (R 2 aftam)
Which given alphabet represents wood rough key? (Refer Fig-2)
(@ A (b) B () D (d F

Rt quifersh SR, GuTHT s =Teft 7 2 27 (fe 2 2fign)
Which given alphabet represents parallel sunk key? (Refer Fig-2)
(@ A (b) E () C (d D

-t quifener 3R, ‘gt dear aret’ w5 e 27 (fe 2 2ftEw)
Which given alphabet represents hollow saddle key? (Refer Fig-2)
(@ A (b) E (¢ B @@ C

I -t quitereh 71T, ‘et wmsh | w5 w27 (fe= 2 3ftam)
Which given alphabet represents feather key? (Refer Fig-2)
a A (b) B (c) D (d F

-t qurieres 32, e dee w1t 1 2w 27 (fe 2 2fgw)
Which given alphabet represents flat saddle key? (Refer Fig-2)
a A (b)y C (co B d D

20 - —  PC=03/2018
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69.  drargeiic ufsar &1 qeT o @

70.

L.

72

Main objective of annealing process is to

(a) T SGHT/ increase in ductility

(b) 31 EQMT / increase in toughness

(c)  wfiffsiferdt =8 gamem / improve machinability
(d) e UIAT / improve hardness

T A F-31, o e Rrafir 27

Which of this is not an anti friction bearing?
(a) et frafar / Ball bearing

(b)  Uew forfér / Roller bearing

(c) 3\ femfir / Solid bearing

(d) e Uew foraféer / Needle roller bearing

referRaa & & fore webm ot 2t & Qe ofi g e 87

Which among following types of threads has lead and pitch as equal?
(a) &g wrETE/ Multi start thread (b) T&e wré 91 / Single start thread

(¢) fa=r =&/ Two start thread (d) B WS/ Three start thread

P & & —ar, i w7 g 27
Which among the following is the heaviest metal?

(a)  IegMmiT / Aluminium (b) =idt/ Silver
(c) s/ Copper (d) @i/ Gold

21 PC-03/2018
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73.

74.

i in

76.

77.

fFrferiaa o @ fora@, am gamh wd 87
Which of the following is used to extinguish fire?
(a) =1/ Water (b) =m/Foam

(c) @A/ Chemical (d) 39U % @t/ All of above

frefafga g @, SS 304 § wH-41 dea 3ufeyrq & grar?

Which of the following element is not present in SS 3047

(a) Au (b) Fe
(c) Ni (d) Cr
sin 6 =

(a)  Trereadfuer/ vl / Adjacent side/ Hypotenuse
(b) =i / feReadiuer / Hypotenuse / Adjacent side
(c) vl / fauer / Hypotenuse / Opposite side

(d)  femer / sl / Opposite side / Hypotenuse

e &t 8 g I gaaw fimdi 2
The least count of steel rule in inch is
(@ 178 (b) 1/16
(c) 1/24 (d) None of above
! fehTer 9T 37T ot oW forem ST Heha 21
Fire can be reduced by removing
(a) 9mErg / Oxygen (b) ™1/ Heat
(c) a7/ Fuel (d) Uk H IS off / Any of above
22 : _ PC-03/2018
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78.

79.

80.

81.

82.

9 78 @ 82 7k, o 3 % R F yerl @ A @HETS W HaqTg-

From Question 78 to 82 match the parts from the Fig. 3 of Types of Spanner.

A .

Fig.3 of Types of Spanner

-4t oo anfe, fre oo ar =1 eies 27 (R 3 3faw)
Which given alphabet represents single end spanner? (Refer Fig-3)
(@ A (b) B (¢ D

- Furicnen anfe, for a6 dess 27 (R 3 3faw)
Which given alphabet represents ring spanner? (Refer Fig-3)
@ G (b)y F ) A

I -t orienen SR, Hiche a1 waw 27 (f 3 3faw)
Which given alphabet represents socket spanner? (Refer Fig-3)
@ A (by B (c) D

- Forieres T, TesEe UM o iae 27 (R 3 fau)
Which given alphabet represents adjustable spanner? (Refer Fig-3)
(@) A (b) B () C

-1 Forienen 3R, goh U o A 27 (R 3 2fn)
Which given alphabet represents Hook spanner? (Refer F 1g-3)
(@ C (b B (¢) D

23
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83. = fod mu fom & fore forehtor 87

How many triangles are there in the given figure?

(a) 8 (b)y 12

(c) 16 (d) 20
84. 1m= 3 81

lm= inch.

() 3937 (b)y 36

(©) 100 (d) 3739
85.  forw wret A, ufirr @ 2018 i @~ Hstar 17

Which city co-hosted Asian Games 2018?

(a) Fen-di-s@fan / Rio de Janerio (b) 1/ Lima

(c) =gAM@ TH /Buenos Aires (d) AfF=mt / Mexico
86. YT =hl TYH 3UUE AT

India’s First Satellite was

(a) T/ Apple (b) @wHT/ Samsung

(c)  wWr&=RU / Bhaskara (d) 3mwg / Aryabhata

24 PC-03/2018
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87.  Tmfoiftad o § forwept “wra w1’ 7 firamn?
Which among the following is not a recipient of Bharat Ratna?
(a) i wrosH 3@T$ / Shri Morarji Desai
(b) it 3feet forerl arstTs / Shri Atal Bihari Vajpayee
(c)  #idl. ot 7tfe wa / Shri PV Narsimha Rao
(d)  #fiwdt sf<u el / Smt. Indira Gandhi
88.  wra# fopam Tow 8 ¥7
How many Union territories are there in India?
(@ 7 (b) 8
¢ 9 (d 10
89.  “wifemr’, form Tsa oY TSt 27
Kohima is the capital city of which state?
(a) 39"/ Assam (b) wfUgT/ Manipur
(c)  fsim / Mizoram (d) Ammeivs / Nagaland
90.  liw-|HT % NeTE FH 27
Who is the Speaker of the Lok Sabha?
(a)  #fiwfd fersia =skadt / Smt. Bijoya Chakraborty
(b)  fimfd =1 weTSE / Smt. Sumitra Mahajan
(c)  fiufq sHen i 9eet / Smt. Kamla Devi Patle
(d)  fmfd etffud SR seet / Smt. Harsimrat Kaur Badal
25 P(b;63/2018 :
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&= w1 o forg s / Space for rough work
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10.

11.

12.

W@rmmmwﬁtw?nmagﬁaw?ﬁﬂaﬁg(A/B/C/D/E)aﬁWm e
F dfFg & AEar 3 g9d FEr JAAaT T v F e W, 3cal e fr Fia T8 A
SITTaf|

Question Booklet series code (A/B/C/D/E) printed on the right hand top corner is
mandatory to be written on the OMR sheet in the box and bubble appropriately. Failing
which, the answer sheet will not be evaluated.

YA WE 3eal F T (+1) 3FF §; 3o A & W e (0) HF Wem IHR AT Ieaw W
S uTge gt ure (—0.25) 3r% F& fHar Fmeem

Each correct answer will carry one (+1) mark; Zero (0) for no answer and minus_
zero point two five (—0.25) for a wrong answer.

fordY off ua & TOT +§ [Feul A I W 3cal ITAad AT AT

Multiple answers for a question will be regarded as a wrong answer.

NTANR e & eamgds fod| HfaRea a3 he verm ¢ i s
Marking in OMR must be done with utmost care. No spare OMR sheet will be provided.

fAfed oer gfd & W FHR, FaFacy, AGEA B IR HeT IS TR,
AISATERT, AlCH 3fE, e AT AT &Y S|

Computers, calculators, mobile phones, reference books, logarithm table, electronic
gadgets etc. will not be allowed inside the Examination Hall.

ST Bl 9 9T U9 H IUAYH TAF & YAHT G F & AU Fa1 a1 Ghar &1 @S
sfaRea e a8 & sroah

Space available in the Question Booklet can be used for rough work, if required.
No separate sheet will be provided.

3FHIGAR 1 G{ET & gge B & AR GlET gid eisa I egAfT A 8
Candidate are not permitted to leave the Examination Hall during the first one hour of
the examination.

3FAlcar H 9 FeT S a9 e @ gud W () gl Rfde (i) Hor MvAIR e
(3eelidhe NTANR ehe 3Fflear 39a 9 @ Fhall & |)

Candidate should hand over the following to the invigilator when asked: (i) Hall-Ticket
(ii) Original OMR sheet (copy of the OMR sheet to be retained by the candidate).
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